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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

1. Answer any five questions of the following :

(a)
(b)
(©)
(d)
Q)
(0
(®)
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5%2=10
Define biogeochemical cycle.

What is ecotone? Give example.

What is cladogram ?

What does it mean by valid publication ?
What is meant by taxonomic heierarchy ?

What is the full form of ICN ?

What does it mean by Keys ?
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(2)
(h) What is ecological pyramid ?

. Answers any four questions of the following :
4x5=20

(a) Write a brief note on endemism in India. 35

(b) Define ‘flora’ and ‘Flora’. Differentiate ‘multi
access’ form ‘single access’ key. 2Vat2'

(c) What is xerophyte? Discribe various
morphological adaptation of xerophytes. 1+4

(d) What is type specimen ? Differentiate holotype
from syntype. Name the type genus of Poaceae.

(¢) Write about precipitation types of water. Write
the functions of herbarium. 2%+2Y, -

(f) Write the principle of biogeographical zone.
Write any four principles of ICN. 342

. Answer any one question of the following :
1x10=10

{a) With suitable example, discuss the flow of
encrgy in the ecosystem. What is the
significance of ecological balance in the

ecosystem? Define food chain and food webs?
4+3+3 =



- (3)

(b) What is phylogenetic system of plant
classification ? Give merits and demerits of
Engler and Prantl’s system of plant
classification. What is clustering ?  2+6+2
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